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इकाई इकाई इकाई इकाई ––––    III/ Unit III/ Unit III/ Unit III/ Unit ––––    IIIIIIIIIIII    

3.  ckY;koLFkk esa gksus okys tksf[ke ,oa lek;kstu dks le>kb;sA     
  Explain hazards and adjustment during childhood.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  ckY;koLFkk esa O;fDRro fodkl dks le>kb;sA 
  Explain personality development in childhood.  

    

    
इकाई इकाई इकाई इकाई ––––    IV/ Unit IV/ Unit IV/ Unit IV/ Unit ––––    IVIVIVIV    

4.  ò)koLFkk esa gksus okyh leL;kvksa dk lfoLrkj o.kZu dhft;sA   
  Explain problems old age in detail.     

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  e/;o;LdkoLFkk esa gksus okys eukslkekftd ifjorZuksa dk o.kZu dhft;sA     
  Describe the psychosocial changes during middle adulthood.    
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PAPER PAPER PAPER PAPER ––––    IIII    
LIFE SPAN DEVELOPMENTLIFE SPAN DEVELOPMENTLIFE SPAN DEVELOPMENTLIFE SPAN DEVELOPMENT    

    TIME TIME TIME TIME ––––    3 HOURS3 HOURS3 HOURS3 HOURS    MAX MARKS MAX MARKS MAX MARKS MAX MARKS ––––    80808080    
        MIN MARKS MIN MARKS MIN MARKS MIN MARKS ––––    16161616    
नोटःनोटःनोटःनोटः ᮧ᳤पᮢ मᱶ तीन ख᭛ड अ, ब, स, हᱹ। सभी ᮧ᳤ अिनवायᭅ हᱹ। 
  ख᭛ड अ – सभी वैकि᭨पक ᮧ᳤ हल करᱶ। 
  ख᭛ड ब – ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
  ख᭛ड स - ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
Note:Note:Note:Note: This question paper has three sections A, B, & C. All questions in every 

section are compulsory. 
  Section A – Attempt all multiple-choice questions. 
  Section B – Attempt all questions. 
  Section C – Attempt all questions. 
 

ख᭛ड ख᭛ड ख᭛ड ख᭛ड ''''अअअअ' ' ' ' / / / / Section 'A'   Section 'A'   Section 'A'   Section 'A'       
बᱟिवक᭨पीबᱟिवक᭨पीबᱟिवक᭨पीबᱟिवक᭨पीय ᮧ᳤ य ᮧ᳤ य ᮧ᳤ य ᮧ᳤ / / / / MultipleMultipleMultipleMultiple----optionoptionoptionoption    QuestionsQuestionsQuestionsQuestions    

 

1. ckY;koLFkk dk izkjaHk gksrk gS&   
 (A) ,d o’kZ dh voLFkk;sa  (B) rhu o’kZ dh voLFkk;sa  
 (C) ikap o’kZ dh voLFkk;sa  (D) 4 o’kZ dh voLFkk;sa  
 Childhood begins from -     
 (A) In one year stage   (B) In three year stage   
 (C) In five year stage   (D) In four year stage   
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2. lkekU; xHkZ/kkj.k ds fdrus fnu ckn f'k'kq dk tUe gksrk gS&   
 (A) 180 fnu ckn    (B) 230 fnu ckn   
 (C) 280 fnu ckn    (D) 300 fnu ckn   
 How many days after conception, is the boby born -  
 (A) after 180 days    (B) after 230 days   
 (C) after 280 days    (D) after 300 days   

 
3. fd'kksjkoLFkk dh lcls egRoiw.kZ pqukSrh gS &   
 (A) foifjr fyax ds izfr lkeatL; LFkkfir djukA   
 (B) LoPNUnrkvksa ij fu;a=.k djukA 
 (C) fd'kksj }kjk Lo;a dh igpku cukukA  
 (D) 'kkjhfjd ifjorZuksa dks le>ukA  
 Must important challenge for adolscent is -      
 (A) To establish adjustment with oposit sex            
 (B) To have control over freedom  
 (C) Self identification by adolescent  
 (D) To understand physical changes  
 
4. fofHkUu vk;qoxksZa ds ckydksa dk v/;;u dgk tkrk gS&  
 (A) izfrfuf/kR;ked fof/k   (B) vuqnS/;Z fof/k 
 (C) voyksdu fof/k   (D) oS;fDrd òRr fof/k 
 Studying boys of different age group in called -  
 (A) Cross seactional method   (B) Longitudinal method  
 (C) Observation method  (D) Indiviual case method  
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इकाई इकाई इकाई इकाई ––––    IV/ Unit IV/ Unit IV/ Unit IV/ Unit ––––    IVIVIVIV    

4.  o;LdkoLFkk esa gksus okys lkekftd lek;kstu dkSu&dkSu ls gSa\    
  Explain what are the social adjustment during adulthood?     

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  fd'kksjkoLFkk dh fo'ks’krk;sa crkb;sA  
  Explain the characteristics of adolescent.  

    
 

ख᭛डख᭛डख᭛डख᭛ड    ''''सससस' ' ' ' / / / / Section 'C'Section 'C'Section 'C'Section 'C'    

दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ ((((श᭣द सीमा श᭣द सीमा श᭣द सीमा श᭣द सीमा 400400400400----450 450 450 450 श᭣दश᭣दश᭣दश᭣द))))    
Long Answer Long Answer Long Answer Long Answer Questions (Word Limit 400Questions (Word Limit 400Questions (Word Limit 400Questions (Word Limit 400----450 Words)450 Words)450 Words)450 Words) 

इकाई इकाई इकाई इकाई ––––    I/ Unit I/ Unit I/ Unit I/ Unit ––––    IIII    

1.  fodkl dks izHkkfor djus okys dkjdksa dk foLrkj ls o.kZu dhft;sA    
  Explain factors influencing development in detail.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  fodkl D;k gS\ fl)karksa dk foLrkjiwoZd o.kZu dhft;sA 
  What in development? Explain in detail principles of development 

process.  
 

इकाई इकाई इकाई इकाई ––––    IIIIIIII/ Unit / Unit / Unit / Unit ––––    IIIIIIII    

2.  euksfo'ys’k.kkRed fl)kar dk o.kZu dhft;sA      
  Describe Psychoanlytical theory of development.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  fodkl dh v/;;u fof/k;ksa dk o.kZu dhft;sA 
  Describe the method of development.  
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5. fyfcMks ,d izdkj dh -------------------- gS&  
 (A)  lEizR;;  (B) vfHkxzg (C) xazfFk  (D) mtkZ    

 Libido is type of ----------------------    
 (A) Concepts  (B) assumption  (C) Complex    (D) Energy     
 
6. fi;kts ds vuqlkj vuqdj.k ------------------ dk mfpr mnkgj.k gS&  

 (A) leatu    (B) vkRelkrhdj.k   
 (C) nksuksa dk leUo;  (D) vewrZ izfrfuf/kdj.k  

 Accomodation the Piaget imitation is the purest example of -     
  (A) Accomodation        (B) Assimulation  
  (C) Coodination of both (D) Abstract representation  
 
7. fuEufyf[kr esa ls dkSu lh voLFkk ladze.k vof/k dgh tkrh gS &  
 (A) 'kS'kokoLFkk    (B) ckY;koLFkk 
 (C) ifjiDo ¼;kSoukjaHk½  (D) fd'kksjkoLFkk   

 Which of the following stage in called the period of transition -   
  (A) Infancy    (B) Childhood    
  (C) Puberty    (D) Adolescent  
 

8. ò)koLFkk ds fy;s rS;kj dj ysus dk ifj.kke gksrk gS&  
 (A) vPNk LokLF;   (B) fujk'kk 
 (C) vkRefo'okl   (D) vPNk lek;kstu   

 Preparing for old age leads to -     
  (A) Good health   (B) Pessimism   
  (C) Self confidence    (D) Good adjustment   
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ख᭛ड ख᭛ड ख᭛ड ख᭛ड ''''बबबब' ' ' ' / / / / Section 'B'Section 'B'Section 'B'Section 'B'    
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Short Answer Questions (Word Short Answer Questions (Word Short Answer Questions (Word Short Answer Questions (Word Limit 200Limit 200Limit 200Limit 200----250 Words)250 Words)250 Words)250 Words) 

    
इकाई इकाई इकाई इकाई ––––    I/ Unit I/ Unit I/ Unit I/ Unit ––––    IIII    

1.  fodkl ds {ks= dkSu dkSu ls gSa\    
  What are the scope of development?     

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  ifjiDork D;k gS\     
  What is materity?   
   
 

इकाई इकाई इकाई इकाई ––––    II/ Unit II/ Unit II/ Unit II/ Unit ––––    IIIIIIII    
2.  fodkl ds vuqnS/;Z fof/k dk o.kZu dhft;sA    
  Describe the cross sectional method of development.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  vuqla/kku j.kuhfr;ka dkSu dkSu lh gSa\ 
  What are the research strategies?  

    

इकाई इकाई इकाई इकाई ––––    IIIIIIIIIIII/ Unit / Unit / Unit / Unit ––––    IIIIIIIIIIII    

3.  'kS'kokoLFkk dh fo'ks’krk;sa crkb;sA 
  Explain characteristics of infancy 

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  thou dh 'kq:vkr dSls gksrh gS\ le>kb;sA  
  How life begins? Explain.  
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